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¢ Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 32 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(i)

(ii)

(iii)

(iv)

()

(vi)

(vii)

All questions in both the sections are compulsory.
Marks for questions are indicated against each.

Questions No. 1 - 5 and 17 - 21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Questions No. 6 - 10 and 22 - 26 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 14 - 16 and 30 - 32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Questions marked star (*) are value-based questions.

(viii)) Answers should be brief and to the point and the above word limits
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should be adhered to as far as possible.
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wus A
SECTION A

39 ATk Yo 1 A FA18¢ A1 o <31 # FHEHT § Ifg I % T § TH
B w2 | 1

Name the economic value achievable when attempts are made to
increase resources in the country.

SR qfd 61 gt G | 1

Define market supply.

&g 1 qfd I I AT TAMEER Hd el AT 7 ? 1

When is supply of a good said to be perfectly price inelastic ?

OO ATl & @ 3T ST | 1

Give two examples of fixed costs.

HIT <! qReATT I | 1

Define demand.

T &g hl qfd “Ted” o foheal g1 RN I SRS HINT | 3
AT

i a6 % qi3 TR fawer % foredl 3 Ron ot sme Hifg |

Explain any two causes of “decrease” in supply of a commodity.

OR
Explain any two causes of a rightward shift of supply curve.

‘P IcqTed HU Hl TS R I Jid] g 2 SARST hitaT | 3
Why does the problem of ‘how to produce’ arise ? Explain.
3cTEH & s Tl T 3T Iierd! @nTd st ufteher shifere 3
3cqTe (3hTEaT) 11 2|3 | 4| 5] 6
= & (3) 24 | 20 | 16 | 12 | 18 | 30
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10.

11.

12.

13.
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Calculate average variable cost at each level of output :

Output (units) 1 2 3 4 5 6
Marginal cost (¥) 24 | 20 16 | 12 | 18 | 30

frfcTfiaa stiehsl @ gfd sl hiFd @ 1 qHEha shIIT

hHd Uid 315 () 10 | 12
FA YT (A7) ()| 2000 | 2400

Calculate price elasticity of supply from the following data :

Price per unit (%) 10 12

Total Revenue (¥) | 2000 | 2400

AR B a5 8 | A HhHd § 9iEdd & B 3hi AT T TG h =&
i |

A and B are complementary goods. Explain the effects of change in price
of A on demand for B.

ol @1 AR 9 fqag & il o e T JHesy |
Explain the distinction between the equations of budget line and budget

constraint.

U a&] I G H HWd A () 17 | T 10 U IHIE HImd 9 gEEh A
500 3TS & | TopT shidd W 3Heh! | 20 Tfawd st ?

The price elasticity of demand of a good is (-) 1. At a price of ¥ 10 per

unit its demand is 500 units. At what price will its demand increase by

20 percent ?

TR 1 aRamr T | TR i g ot samsy |

Define monopoly. State the main features of monopoly.



14. TfaRaq SAfhet A IcuTe HT 98 TR TG hitT 9 W Icq1eeh dge J 7 |
AT IR & foAu swrer e | (Hama anra SR dura s fafer w5 g
i) 6
IS (3H1E) | FUH (3TM) ()| T &AM ()
1 12 14
2 24 26
3 36 36
4 48 48
5 60 62
From the following data find out the level of output at which the
producer is in equilibrium. Give reasons for your answer. (Use marginal
cost, marginal revenue approach)
Output (units) | Total Revenue () | Total Cost (3)
1 12 14
2 24 26
3 36 36
4 48 48
5 60 62
15.  SHEHM 5hi i fommareti S = HifvT | 6
AT

ST fIversur & gRT SUMRRT T <hl ITdl ohl SARSAT hHITTT |

Explain the characteristics of indifference curves.

OR
Explain the conditions of consumer’s equilibrium using utility analysis.

16. qfd TR 1 319 AWSTST | $Heh 9&q ohl hiAd, AN I gfd T YW@ i
QAT ! ST FHIRTT | T@TT=E T TA HINT | 6
Explain the meaning of excess supply. Explain its chain of effects on

price, demand and supply of the commodity. Use diagram.
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Fie:  FAECTET J9 FIT FIBFIT TRt & 1077 397 & 16 @ € WE |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 16.

gfd ST 1 1Yl THESY | 38k a%g ohl hiHd, W AR Yfd W IS4 aT
T 3l *T@AT hl SAREAT hHIT | dTfetehl ST FART HIFT |

Explain the meaning of excess supply. Explain its chain of effects on
price, demand and supply of the commodity. Use a schedule.

Qus d
SECTION B

17. TSES =99 o @l 388Ul S |

Give two examples of revenue expenditure.

18. Hcus™ I A’ S |

Give the meaning of depreciation.

19. ifafe qardn (TAHiY) STIITa = il 3 ?
What is statutory liquidity ratio ?

20. TIHH! So¢ hl qiymsT EfST |

Define a government budget.

21. XY 3cdte <Al gftdmsT df |

Define domestic product.

22. TUeh JAIGEAT H YA I TIAIG IcTeT 9 37(eeh 8 | 3refcyasen § g4
a1t T} afadHi <A s i |

In an economy planned spending is greater than planned output.
Explain all the changes that will take place in the economy.

23. WM GqeH @Id o SR Hga 3R =1 7@l dqeH H 98 hiv |

Distinguish between Balance of trade and Balance on current account of
the Balance of Payments account.
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24.

25.

26.

27.
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HGT TGN i SIS DI hl SATEAT HIWT | 3

HAAT

‘SRl o SR oh T H hr4d Seh shi Y[HRT Sl AT FHINT |
Explain the ‘unit of account’ function of money.

OR
Explain the role of central bank as the ‘Bankers’ Bank’.

Tk 3T Y18 H Ue hIfSU | $7ehT Teh-Ush 3218007 SINIT | 3

Distinguish between stocks and flows. Give an example of each.

3Ed 39U S 1 31Y THSST | 361 3R H1Ed o=d T 1 F1 qFaee
8 ? 3

Explain the meaning of average propensity to consume. What is its
relation with average propensity to save ?

frfaRaa sl ¥ “wres @ R FHad qod §9fg” &1 giehad Il 4
(T ar@l 4)
i  fosh 400
(i) %I § giEda (=) 20
(iii) HETe U 200
(iv) Taa s 40
v) Twia 50
(vi) IR 30
arera

T Tohel BT 3cAIG AN oh TMAh HedAT0 1 Tl TAh g ? 39 IWM &
Tm | g R R |

7 P.T.O.



28.

*29.

30.
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From the following data calculate “Net value added at factor cost” :

(T in Lakhs)
) Sales 400
(i1))  Change in stock (=) 20
(iii) Intermediate consumption 200
(iv)  Net indirect taxes 40
(v)  Exports 50
(vi)  Depreciation 30

OR

Is gross domestic product a true index of economic welfare of the

people ? Give two reasons in support of your answer.

Hd g dep Ifegaen # gr@ Wi s ‘A @ g e el e g 2
AR |

How does the central bank control credit creation in the economy

through “Bank Rate” ? Explain.

TR HH o TR TG i A i 7 ST B & | $Hh T R AT(4H
ed UTH i hl 3211 &l Hehdl @ ? HHZATT, |

Government takes measures to restrict autonomous imports of gold.

Explain the economic values desired to be achieved from this.

Fr=fafaa @ 9e Hifs -

(3)

C)

TegeT Y 3T 37T
TTerfHeR =TT 3T I 1]

Distinguish between :

(a)
(b)

Direct tax and Indirect tax

Primary deficit and Revenue deficit



31. (31) TR UM 3R YR 39w & T AR TuST |
(§) U rdeaawe o SR § QU T FAfAfEd stiesl 8§ 36 3™ o dqaq

T T Yiehe hIfT : 6
(i) T U = 400

(i) HHra AN TG = 05

(iii) FrEw = 4000

(a)  Distinguish between autonomous consumption and induced
consumption.

(b)  From the following data about an economy, calculate its
equilibrium level of income :

(i)  Autonomous consumption = 400

(ii) Marginal propensity to consume = 05

(iii) Investment = 4000

32. TP I F1 Ufehe T : 6
(T #isl 5)
i) 9 fava & faa =T geara 30
i) Tht erfeam 3uvm = 400
(i) T < ot fwto 100
(iv) %I § giEda 50
(v) HIgH™ 20
(vi) TR g I9HNT == 200
(vi)) Faa fia 40
(viii) Toe sTcae =X 80
(ix) Tocun =+ faat & o *1 g 10
AT
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frafafaa stierst O dafthes TIIST 3T T INeheld hifoT -

(& #gl 5)

i) TSt &3 1 R ara | fFaw

<t Icarg & it o1 800
(i)  UEH R T A 50
(i) TEPR § =T TR 70
(iv) fioft ot & Y s=ra 200
(v) Tm e 40
(vi) diEml g fou e Seae 30
(vi) Hoag™ 60
(viii) ToeEn & faa &R o 20
(ix) faeer =t fFrae @ s () 10

Calculate national income :

(< in Crores)

(1) Net current transfer from rest of the world 30
(i1)  Private final consumption expenditure 400
(iii) Net domestic capital formation 100
(iv)  Change in stock 50
(v)  Depreciation 20

(vi)  Government final consumption expenditure 200

(vii) Net exports 40

(viii) Net indirect taxes 80

(ix) Net factor income paid to abroad 10
OR

58/3 10



From the following data calculate personal disposable income :

(T in Crores)

) Net domestic product at factor cost

accruing to private sector 800
(ii))  National Debt interest 50
(iii) Current transfers from government 70
(iv)  Savings of private corporate sector 200
(v)  Corporation tax 40
(vi)  Direct taxes paid by households 30
(vii) Depreciation 60
(viii) Net factor income from abroad 20
(ix) Net current transfers to abroad (=) 10

58/3 11



SENIOR SCHOOL CERTIFICATE EXAMINATION

JULY-2014

MARKING SCHEME — ECONOMICS (Outside)
(SET-III)

Expected Answers / Value Points

GENERAL INSTRUCTIONS :

1. Please examine each part of a question carefully and allocate the marks
allotted for the part as given in the marking scheme below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE WHERE THE
ANSWER ENDS.

2.  Expected suggested answers have been given in the Marking Scheme. To evaluate
the answers the value points indicated in the marking scheme be followed.

3.  For questions asking the candidate to explain or define, the detailed explanations
and definitions have been indicated alongwith the value points.

4.  For mere arithmetical errors, there should be minimal deduction. Only % mark be
deducted for such an error.

5. Wherever only two /three or a “given” number of examples / factors / points
are expected only the first two /three or expected number should be
read. The rest are irrelevant and must not be examined.

6. There should be no effort at “moderation” of the marks by the evaluating
teachers. The actual total marks obtained by the candidate may be of no
concern to the evaluators.

7.  Higher order thinking ability questions are assessing student’s understanding /
analytical ability.

8. {:} indicates value based questions.

General Note : In_case of numerical question no mark is to be given if only
the final answer is given.
. Distribution
B
3 Expected Answer / Value Points of Marks
SECTION - A
1 | Economic growth. 1
2 | It is the total output of a good all its producers are willing to supply at a given
price, during a period of time. 1
3 | When the supply of a good does not change despite of a change in its price. 1

Pg. 1



4 | Rent of factory building, salary of permanent workers etc. Yex2
(any two relevant examples)
5 | Itis the quantity of a good that a consumer is willing to purchase at a given price, 1
during a given period of time.
6 (i) Imposition of unit tax raises cost. Price remaining unchanged, profits fall. This 1%
leads to ‘decrease’ in supply.
(ii) Rise in prices of inputs raises cost. Price remaining unchanged, profits fall. 1%
This leads to ‘decrease’ in supply.
(Any other relevant cause)
OR
(i) Use of improved technology reduces cost. Price remaining unchanged, Profits 1%
2
rise. This leads to shift of supply curve to the right.
(ii) Fall in prices of inputs reduces cost. Price remaining unchanged, profits rise. 1%
This leads to shift of supply curve to the right.
(Any other relevant cause)
7 | It arises due to availability of alternative techniques of production. Broadly, the
choice is between capital-intensive techniques and labour-intensive techniques. 3
The problem is that which one to employ.
8 Output MC TVC AVC
24 24 24
2 20 44 22
3 16 60 20
4 12 72 18 % X6
5 18 90 18
6 30 120 20
(No marks if only the final answer is given)
9 | Price TR Supply
10 2000 200
12 2400 200 1
_P a0
Es = P Ap 1
10 0 %
200 " 2
(No marks if only the final answer is given)
10 | When price of A rises (falls) its demand will fall (rise) and the demand of 3

complementary good B will also fall (rise) because both the goods must be used
together

Pg. 2



11

Let the two goods consumed by the consumer be X and Y. Let m be income

The equation of budget line is :

Px.X+Py.Y=m 1
Which shows that the whole collection of the combinations of the two goods on 1
the budget line costs the consumer exactly his income.
The equation of budget constraint is : 1
X+ P.Y <m
which says that the money spent on the two goods must be equal to or less than 1
the income.
12 |, =2 A 1
QAP
10 o 100 1%
~ 500 AP
AP = —2 %
New Price = AP+ P =-2+10 =Rs.8 1
(No marks if only the final answer is given)
13 | Market for a good in which there is only one producer. 1
Features : (1) Single seller / Producer of the product.
(2) No close substitutes of the product.
(3) Restrictions on entry of new firms. 3
14 | Output TR TC MR MC
1 12 14 12 14
2 24 26 12 12
3 36 36 12 10
4 48 48 12 12
5 60 62 12 14
2
The equilibrium is at 4 units of output. 2
Reasons : (1) At this output MC= MR. 1
(2) MC > MR after equilibrium output. 1
15 | (1) Itis downward sloping : 1
Because if the consumer gets more of one good, the consumer must give up 1
some quantity of the other good, to remain on the same level of utility.
(2) It is convex towards the origin : 1
Because MRS falls as consumer moves along the curve downwards. It is because 1
of the law of diminishing marginal utility.
(3) IC to the right denotes higher utility: 1
Because IC to the right has higher quantity of the two goods. By assumption 1

more goods means more utility.

Pg. 3



OR
Conditions : (Assuming that the consumer consume only two goods X and Y)
(1) Ratio of marginal utility to price in case of each good must be the same.

1
OR MUz _ MUy
Px Py
Because. Suppose % > MP—? the consumer will buy more of X by diverting
expenditure from Y. As a result , MUx will fall and MUy will rise till % = MP—? 3
(2) Marginal utility falls as more of a good is consumed
because unless it happens the consumer will not reach equilibrium.
16
Y ) P
rice p! \ﬁ / B/
P €
2
s D
(] Q X
&uanb?
Excess supply (AB) occurs when the market price (OP4) is greater than the
equilibrium price(OP). This leads to competition among sellers as a result of
which.
1. Price starts falling.
2. Demand starts rising along the demand curve
3. Supply starts falling along the supply curve. 4
4. Till the equilibrium price (OP) is reached.
For the blind Candidates
Meaning of excess supply 2
Effects with the help of schedule 4
SECTION - B
17 | Salaries of Government employees, Interest payment etc. % x2
18 | Fall in the value of a capital good due to normal wear and tear and foreseen 1
obsolescence, during its use in production.
19 | Statutory Liquidity Ratio is the fraction of total deposits of a commercial bank 1
which it has to keep with itself in the form of specified liquid assets.
20 | Government Budget is statement of expected receipts and expected expenditure 1

of government during a financial year.

Pg. 4



21

Value of final goods and services produced within the domestic (economic)
territory of a country.

22

When planned spending > planned output there will depletion of stocks with the
producers below the desired level. To bring it back to the desired level, the
producers will produce more till it becomes equal to planned spending.

23

Difference between the value of exports of goods and imports of goods is
balance of trade. Whereas the difference between receipts and payments on
account of exports of goods and imports of goods, services and net transfer
receipts, give us the balance on current account.

24

Money as a unit of account means a standard unit for quoting prices or
borrowing and lending activities etc. This function makes possible keeping of
business accounts thus facilitating trade. It has also led to the emergence of the
banking system.

OR

Commercial banks are required to keep a certain minimum percentage of
deposits as cash reserve with the central bank. Central bank uses these reserves
to meet emergency requirements of the commercial banks. It is called bankers’
bank function of the central bank.

25

Stocks are variables measured at a point of time whereas flows are variables
measured over a period of time.

Example :- Capital ....... etc is a stock. (any one)

Income ............... etcis a flow. (any one)

Y
A

26

APC is the ratio of consumption expenditure to income.

Sum of APS and APC is 1.

1%
1%

27

NVAg: = (i) + (ii) — (iii) — (iv) — (vi)
= 400 + (—20) — 200 — 40 — 30
= Rs.110 lakh
(No marks if only the final answer is given)
OR

GDP is not necessarily the true index of economic welfare of the people. The
main reasons are :

(1) Many non-monetary exchanges left out of GDP do contribute to welfare like
mother cooking food, etc but are not included.

(2) GDP does not take into account changes in inequalities in the distribution of
income.

(3) GDP does not take into account externalities, positive or negative.

(4) Any other (Any Two)

1%
Y2

2x2

Pg.5



Bank rate is the rate of interest at which the central bank lends money to the

28
commercial banks. Suppose the central bank raises bank rate, it makes
borrowings by the commercial banks costly. This forces the commercial banks to 4
raise their lending rates. It makes borrowings by the people costly. People
borrow less and credit creation is adversely affected.

(Opposite happens when bank rate is reduced)

29 | Restricting autonomous imports of gold reduces foreign exchange demand. This
in turn reduces foreign exchange payments. Since autonomous payments 4
decline, BOP deficit decline. This decline reduces pressure of deficit and is thus
the economic value realised.

30 | (i) Direct tax is one whose liability to pay and incidence lie on the same person. 1%
An indirect tax is one whose liability to pay and incidence lie on different ,
persons. 1%
(ii) Primary deficit = Fiscal deficit — interest payments 1%

Revenue deficit = Revenue expenditure — revenue receipts 1%

31 | (a) The consumption not affected by change in income is autonomous whereas
the consumption affected by change in income is “induced” 2
(b)Y =C+1 1

Y = C+MPC(Y)+1 1
Y =400+ .5(Y) + 4000 1
S5Y = 4400

1

Y = 8800 }

(No marks if only the final answer is given)
32 N.I. = (ii) + (vi) + (iii) + (vii) — (ix) — (viii) 3
=400+ 200+ 100+ 40—-10-80 2
= Rs. 650 crore 1
OR

P.D.1.= (i) + (viii) + (iii) + (ii) — (ix) — (iv) — (v) — (vi) 3
=800+ 20+ 70+ 50— (—10) — 200 — 40 — 30 2
1

= Rs.680 Crore

(No marks if only the final answer is given)

Pg. 6
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